Efficiency vs P,

~ 0.2
0.18
0.16
0.14

...........................................

...........................................

efmciency vs p

...........................................

0.12
0.4
0.08fF--f------ P B T

..............................................

0.06]
0.04

0.02

o 1OFr ] ] i

3 HITE T 1T

¥ 1.05 k2 B 5 1 B I S
1 ++ I e E-- -n- ------------

=
o
iN

! 0 18 el

—=— DQM_original_originalvector_1000evt
—e— DQM_fit_cpeOK_SORTRZ2_TESTOUTLIER5_1000evt
—— DQM_fit_cpeOK_SORTRZ2_TESTOUTLIER6_1000evt

USSR RS o e

I SR S TR .

o b b

Ratio




	Contents
	Page 1


